
L5(2) (mod 5)

blocks defect matrix

G : 1 1 5× 4
2 0 301 = χ2, ϕ2

3 0 1551 = χ4, ϕ4

4 1 4× 2
5 0 2801 = χ6, ϕ6

6 0 3151 = χ7, ϕ7

7 = 6 0 3152 = χ8, ϕ8

8 0 3153 = χ9, ϕ9

9 = 8 0 3154 = χ10, ϕ10

10 0 3155 = χ11, ϕ11

blocks defect matrix

11 = 10 0 3156 = χ12, ϕ12

12 0 4651 = χ13, ϕ14

13 = 12 0 4652 = χ14, ϕ15

14 0 4653 = χ15, ϕ16

15 = 14 0 4654 = χ16, ϕ17

16 0 9301 = χ22, ϕ20

17 0 9302 = χ23, ϕ21

18 = 17 0 9303 = χ24, ϕ22

19 0 9601 = χ25, ϕ23

20 0 12401 = χ27, ϕ24

Block 1: ϕ1 ϕ3 ϕ13 ϕ18

11 = χ1 1 . . .
1241 = χ3 1 1 . .
4961 = χ17 . 1 1 .
6511 = χ18 . . . 1

10241 = χ26 . . 1 1

ϕ1 = 11
ϕ3 = 1231
ϕ13 = 3731
ϕ18 = 6511

Block 4: ϕ5 ϕ19

2171 = χ5 1 .
6512 = χ19 . 1
6513 = χ20 . 1
8681 = χ21 1 1

ϕ5 = 2171
ϕ19 = 6512


